



Vendor Ranking

Page 1 of 1

 Letting:
 06240425
 April 25, 2024 11:00 AM
 Call Order: 001
 Contract:
 E6P27

 District:
 District 6
 Counties:
 MIAMI-DADE
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45439417201 (*)

Contract Desc: INLET TOP REPLACEMENT - DRAINAGE IMPROVEMENTS

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$144,416.95	100.00%
2	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$249,235.00	172.58%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$314,904.50	218.05%
4	AMERICAN DESIGN ENGINEERING CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$362,450.00	250.97%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 7

 Letting:
 06240425
 April 25, 2024
 Call Order:
 001
 Contract:
 E6P27

 District:
 District 6
 Counties:
 MIAMI-DADE
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45439417201 (*)

Contract Descr: INLET TOP REPLACEMENT - DRAINAGE IMPROVEMENTS

This Contract consists of replacing inlet tops on various Arterial State Roads in Miami-Dade County.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs.

The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

***The Award will be made at the Department Advertised Estimate Amount of \$200,000.00.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) NATIONA SOLUTION			ANGLER CTION INC.
() indicates item is bid as Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 0102 14 TRAFFIC CONTROL OFFICER	300.000 HR	0.01000	3.00	80.00000	24,000.00	85.00000	25,500.00
0010 0102 60 WORK ZONE SIGN	680.000 ED	0.01000	6.80	0.20000	136.00	0.60000	408.00
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, VP, DRUM, OR LCD	2,495.000 DI, ED	0.01000	24.95	0.20000	499.00	0.70000	1,746.50
0020 0102 76 ARROW BOARD / ADVANCE WARNIN ARROW PANEL	220.000 NG ED	0.01000	2.20	10.00000	2,200.00	6.50000	1,430.00



Page 2 of 7

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 06	6240425	April 25, 2024	Cal	II Order: 001		Contract:	E6P27	
	No / Item ID	Alternat	e Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) NATIONA SOLUTI			ANGLER CTION INC.
	dicates item is bi	d as Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0025 REMO\	0110 4 10 VAL OF EXISTI	ING CONCRE	220.000 TE SY	10.00000	2,200.00	40.00000	8,800.00	16.00000	3,520.00
	0121 70 2 ABLE FILL, MAI RACTS ONLY	INTENANCE	40.000 CY	400.00000	16,000.00	350.00000	14,000.00	252.00000	10,080.00
	0327 70 5 G EXISTING A IENT, 2" AVG [250.000 SY	5.00000	1,250.00	7.00000	1,750.00	49.00000	12,250.00
	0327 70 6 G EXISTING A IENT, 1 1/2" A\		250.000 SY	5.00000	1,250.00	7.00000	1,750.00	13.00000	3,250.00
	0337 7 82 LT CONCRETI SE,TRAFFIC C,		20.000 TN 6-22	100.00000	2,000.00	700.00000	14,000.00	745.00000	14,900.00
	0337 783 LT CONCRETI SE,TRAFFIC C,		20.000 TN 76-22	100.00000	2,000.00	700.00000	14,000.00	745.00000	14,900.00
0055 INLETS	0425 1351 S, CURB, TYPE	E P-5, <10'	4.000 EA	12,000.00000	48,000.00	12,000.00000	48,000.00	10,657.00000	42,628.00
0060 INLETS	0425 1361 S, CURB, TYPE	E P-6, <10'	4.000 EA	12,000.00000	48,000.00	12,000.00000	48,000.00	12,108.00000	48,432.00
0065 CONCF	0520 1 10 RETE CURB &	GUTTER, TYF	350.000 PEF LF	30.00000	10,500.00	40.00000	14,000.00	39.00000	13,650.00





Tabulation of Bids

Page 3 of 7

Letting	g: 0624042	25 April :	25, 2024	Call C	Order: 001		Contract:	E6P27	
	No / Item ID A Description	lternate (Quantity Units	(1) ROGAR MANA CONSULTING OF		(2) NATIONA SOLUTION			ANGLER JCTION INC.
	dicates item is bid as Lur	mp Sum		Unit Price LLC	≣xt Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(CLE	AN DRAIN	IAGE STRUCTURES	(LF				
	0522 1 ETE SIDEWALK AND VAYS, 4" THICK)	160.000 SY	44.00000	7,040.00	65.00000	10,400.00	81.00000	12,960.00
	0522 2 ETE SIDEWALK AND VAYS, 6" THICK)	60.000 SY	44.00000	2,640.00	95.00000	5,700.00	100.00000	6,000.00
	E425 73 1 ING MANHOLES AND ANICAL)) INLETS	35.000 EA	50.00000	1,750.00	700.00000	24,500.00	1,650.00000	57,750.00
0085 CLEANI (MANUA	E425 73 5 ING MANHOLES AND AL)) INLETS	35.000 EA	50.00000	1,750.00	500.00000	17,500.00	1,300.00000	45,500.00
,	0001 CLEAN DRAIN STRUCTURES		า Totals:		\$144,416.95		\$249,235.00		\$314,904.50
	Cont	ract Grand [·]	Totals:		\$144,416.95		\$249,235.00		314,904.50



Page 4 of 7

Florida Department of Transportation



Tabulation of Bids

Letting:	06240425	April 25, 2024	Call	Order: 001		Contract:	E6P27	
Line No / I		nte Quantity Units	(4) AMERICAN ENGINEE	RING				
() indicates	item is bid as Lump Sun	n	CONSTRUCT Unit Price	ION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(CLEAN DRAIN	IAGE STRUCTURES	S (LF				
0005 0102 TRAFFIC CON	14 ITROL OFFICER	300.000 HR	85.00000	25,500.00				
0010 0102 WORK ZONE		680.000 ED	2.00000	1,360.00				
0015 0102 CHANNELIZIN VP, DRUM, OI	IG DEVICE- TYPES	2,495.000 I, II, DI, ED	2.00000	4,990.00				
0020 0102 ARROW BOAI ARROW PANI	RD / ADVANCE WAR	220.000 RNING ED	25.00000	5,500.00				
	4 10 EXISTING CONCRE	220.000 ETE SY	25.00000	5,500.00				
	70 2 LL, MAINTENANCE ONLY	40.000 CY	650.00000	26,000.00				
MILLING EXIS	70 5 TING ASPHALT " AVG DEPTH	250.000 SY	45.00000	11,250.00				
MILLING EXIS	70 6 TING ASPHALT 1/2" AVG DEPTH	250.000 SY	45.00000	11,250.00				
ASPHALT CO	7 82 NCRETE FRICTION FFIC C, FC-9.5, PG	20.000 TN 76-22	450.00000	9,000.00				





Tabulation of Bids

Page 5 of 7

Letting:	06240425	April 25, 2024	Call	Order: 001		Contract:	E6P27	
	/ Item ID Alterna	ite Quantity Units	(4) AMERICA ENGINEE CONSTRUC	RING				
() indicate	es item is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(CLEAN DRAIN	IAGE STRUCTURE	S (LF				
ASPHALT C	37 783 CONCRETE FRICTION RAFFIC C, FC-12.5, PG	20.000 TN 3 76-22	450.00000	9,000.00				
	25 1351 JRB, TYPE P-5, <10'	4.000 EA	18,000.00000	72,000.00				
	25 1361 JRB, TYPE P-6, <10'	4.000 EA	18,000.00000	72,000.00				
	20 1 10 E CURB & GUTTER, TY	350.000 PE F LF	45.00000	15,750.00				
CONCRETE	22 1 E SIDEWALK AND 'S, 4" THICK	160.000 SY	65.00000	10,400.00				
CONCRETE	22 2 E SIDEWALK AND 'S, 6" THICK	60.000 SY	70.00000	4,200.00				
	25 73 1 MANHOLES AND INLE CAL)	35.000 TS EA	1,750.00000	61,250.00				
	25 73 5 MANHOLES AND INLE	35.000 TS EA	500.00000	17,500.00				





Tabulation of Bids

Page 6 of 7

Letting:	06240425	April 25, 2024	Call Order: 001	Contract:	E6P27
Line No / Item		ate Quantity Units	(4) AMERICAN DESIGN ENGINEERING		
•	is bid as Lump Sur		CONSTRUCTION INC. Unit Price Ext Amount	Unit Price Ext Amount	Unit Price Ext Amount

SECTION: 0001 (CLEAN DRAINAGE STRUCTURES (LF

0001 CLEAN DRAINAGE Section Totals: \$362,450.00

STRUCTURES (LF)

Contract Grand Totals:	\$362,450.00	



04/25/2024

Tabulation of Bids

Page 7 of 7

Letting: 06240425

April 25, 2024

Call Order: 001

Contract:

E6P27

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.